Unit 1 Lab 5 GFP STABILITY

11/4/10 & 11/9/10

Program hot blocks to 90C

DTT stock solution 1M from 5 g bottle:


MW = 154.25, mix with 32.4 mL

DTT stock solution 1 M from 0.4 g borrowed from Wadsworth lab


Mix with 2.592 mL water

TNG – students fill 12 wells @ 200 µL = 4800 µL, so aliquot 5 mL/group


Make 150 mL

	ingredient
	MW
	mM
	150
	250
	500
	1000

	Tris-HCl** (g)
	121.14
	100
	1.8171
	3.0285
	6.057
	12.114

	NaCl (g)
	58.43
	150
	1.314675
	2.191125
	4.38225
	8.7645

	glycerol %
	
	10
	15*
	25
	50
	100

	DTT 1M stock (mM)
	
	5
	0.75
	1.25
	2.5
	5

	pH 7.5**
	
	
	
	
	
	



* or 80% of this volume directly from bottle


** initial pH = ~5.6 with Tris-HCl, ~10 with Tris-base

Stir!

UREA 9M + 1mM DTT – students need ~1537 µL/group.  Aliquot 4 mL/group


Make 100 mL


1M DTT: 1 mL

Urea MW = 60.06 
[image: image1.wmf]
Do not refrigerate concentrated urea – it precipitates!

Molar extinction coefficient of GFP = 8.33 x 104/M/cm

MW = 27000

A 4mg/mL solution = 1.48 x 10-4M

Stock solution in freezer is 9.6 mg/mL.

Each group needs 25 + 5 = 30 µL; aliquot 45µL

Dilute 500 µL stock with 700 µL TNG:
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[image: image3.wmf] = energy of  product (D, unfolded) – energy of reactant (N, folded)

K = [D]/[N]

if K>1, lnK>0

if K<1, lnK<0
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K is low when there is more [N]

K is high when there is more [D]

(G(( when [N](
(G(( when [D](
(G(  =~12 = -0.0083145 lnK x 298

lnK = 12/0.008 -1500 =~5; K=0.006 = [D]/[N]
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